

Now if n can be represented in the form

$$(5.14) \quad n = n_1 n_2, \quad f(n_1), f(n_2) \in G_1,$$

then in view of (5.13) we have $ef(n_1) \cap f(n_2)$, thus

$$(5.15) \quad f_4(n) = ef(n_1)f(n_2) = f(n_1)f(n_2) = f(n).$$

By the remark made after the proof of Lemma (5.7), a.a. numbers admit a representation of type (5.14), consequently $f(n) = f_4(n)$ holds for a.a. natural numbers n . Since f_4 has been proved to be stable, so is f . ■

Proof of Theorem 2. First we apply Lemma (5.3). If f has a deconcentrated distribution, we are finished. If it does not, we get a function f_0 satisfying requirements (i) and (ii) of the lemma. To obtain that f is stable it is sufficient to show, according to Lemma (2.14), that all the functions f_0/q_a are stable. The stability of f_0 is asserted in Lemma (5.4) and the same lemma will be applied to the functions f_0/q_a ; we have only to show that these functions also satisfy the condition (ii) of Lemma (5.3). To this end we show that if $G' = G/q_a$ and $\varphi: G \rightarrow G'$ is the natural homomorphism, then the image of a quasiassociative class under φ will be contained a quasiassociative class of G' , i.e.

$$x \tilde{\circ} y \Rightarrow \varphi(x) \tilde{\circ} \varphi(y).$$

Write $\varphi(x) = x'$, $\varphi(y) = y'$. We have to prove that for arbitrary elements $u' = \varphi(u)$ and $v' = \varphi(v)$ of G' the equivalence

$$u'x' = v'x' \Leftrightarrow u'y' = v'y'$$

holds. But by the definition of q_a we have

$$u'x' = v'x' \Leftrightarrow aux = avx \Leftrightarrow auy = avy \Leftrightarrow u'y' = v'y',$$

and this concludes the proof. ■

References

- [1] A. S. Besicovitch, *On the density of certain sequences of integers*, Math. Ann. 110 (1934), pp. 336–341.
 [2] H. Davenport and P. Erdős, *On sequences of positive integers*, Acta Arith. 2 (1937), pp. 147–151.
 [3] I. Z. Ruzsa, *General multiplicative functions*, ibid. 32 (1977), pp. 313–347.

MATHEMATICAL INSTITUTE OF THE
 HUNGARIAN ACADEMY OF SCIENCES
 Budapest, Hungary

Received on 13.12.1980

(1237)

On an average of primes in short intervals

by

A. PERELLI (Pisa) and S. SALERNO (Baronissi)

Introduction and statement of the result. The distribution of prime numbers in short intervals is a classical topic in analytic number theory. It mainly consists of establishing asymptotic formulae or estimates for $\pi(x+F(x)) - \pi(x)$, where $F(x)$ is a monotonically increasing function.

The best unconditional results concerning asymptotic formulae were obtained by Huxley [5], those concerning estimates from below were obtained by Iwaniec–Jutila [7] and Heath-Brown–Iwaniec [4], while under the Riemann Hypothesis there are results of Cramér [2] and Selberg [10]. Moreover Gallagher [3] obtained interesting results assuming a certain uniform version of the prime r -tuple conjecture of Hardy–Littlewood.

In this paper we define the functions

$$(1) \quad \pi_{2k}(x, h) = \sum_{\substack{p_1, \dots, p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h}} 1, \quad h = h(x),$$

where $p_{\min} = \min(p_1, \dots, p_{2k})$ and $p_{\max} = \max(p_1, \dots, p_{2k})$, and we obtain the following

THEOREM. *Assuming the Riemann Hypothesis, for every integer $k \geq 1$ we have*

$$(2) \quad \pi_{2k}(x, h) \sim 2kh^{2k-1}x \log^{-2k}x,$$

provided $h/f_{2k}(x) \rightarrow \infty$, where

$$f_{2k}(x) = x^{(k-1)/(2k-1)} \log^{2k/(2k-1)} x \log \log^{1/(2k-1)-\varepsilon_k} x, \quad \varepsilon_k = \begin{cases} 1, & k = 1, \\ 0, & k \neq 1. \end{cases}$$

Remarks. In the sequel the Riemann Hypothesis is always assumed, unless the contrary is explicitly stated.

(a) Evidently

$$\pi_{2k}(x, h) = \sum_{\substack{p_1 \neq p_2 \neq \dots \neq p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h}} 1 + \sum'_{\substack{p_1, \dots, p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h}} 1,$$

where ' indicates that the sum is extended to all the $2k$ -tuples in which at least two primes are equal. Therefore

$$\sum'_{\substack{p_1, \dots, p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h}} 1 \ll_k \sum_{\substack{p_1, \dots, p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h \\ p_1 = p_2}} 1 = \sum_{\substack{p_2, \dots, p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h}} 1 = \pi_{2k-1}(x, h).$$

Using Hölder's inequality with $p = 2k/(2k-1)$, $q = 2k$ in (8) (see the proof of the theorem) we can easily see that

$$\pi_{2k-1}(x, h) \sim xh^{2k-2} \log^{-(2k-1)} x$$

provided $h/f_{2k}(x) \rightarrow \infty$, whence the main term of $\pi_{2k}(x, h)$ is contained in

$$\sum_{\substack{p_1 \neq p_2 \neq \dots \neq p_{2k} \\ p_{\min} \leq x \\ 0 < p_{\max} - p_{\min} \leq h}} 1.$$

(b) From (1) and remark (a) we get straightforwardly

$$\pi_{2k}(x, h) \sim 2k \sum_{p \leq x} (\pi(p+h) - \pi(p))^{2k-1}$$

provided $h/f_{2k}(x) \rightarrow \infty$, and therefore (2) can be viewed as an asymptotic formula for an average of primes in short intervals.

(c) Again from (1) and remark (a) it follows that

$$(3) \quad \pi_{2k}(x, h) \sim 2k \sum_{\substack{u_1, \dots, u_{2k-1} \\ 0 < u_j \leq h \\ j=1, \dots, 2k-1}} \pi(x, u_1, \dots, u_{2k-1}),$$

where $\pi(x, u_1, \dots, u_s) = \#\{p \leq x: p + u_j = p', j = 1, \dots, s\}$, and therefore (2) can be also viewed as an asymptotic formula for an average of $2k$ -tuples of "twin-primes".

In this respect it is worth considering Theorem 1 of Lavrik [8] where is given the asymptotic formula for $\pi(x, u_1, \dots, u_s)$ for every s -tuple of distinct integers u_1, \dots, u_s with $1 \leq u_j \leq x \log^{-(s+c)} x$, except for at most $x^s \log^{-s(s+c)-M} x$ s -tuples, where $M > 0$ and $c > 1$ are arbitrary constants. Although Lavrik's theorem holds unconditionally, its possible exceptions have an order of magnitude by far larger than that of the terms actually considered in (3).

(d) It is worth noting that, setting

$$S_m(x, h) = \sum_{\substack{p, p' \\ p \leq x \\ 0 < p' - p \leq h}} (p' - p)^m,$$

we have

$$(4) \quad S_{m+1}(x, h) = \int_0^h S_m(x, u) du - h S_m(x, h),$$

hence from (1) and (4) we have also, by an inductive argument,

$$S_m(x, h) \sim 2h^{m+1} x / (m+1) \log^2 x$$

provided $h \log^{-2} x \rightarrow \infty$.

(e) As far as unconditional results are concerned, we remark that using the density theorems of Ingham [6] and Huxley [5] in Lemmas 5 and 6 of Saffari-Vaughan [9], we easily obtain

$$\pi_2(x, h) \sim 2hx \log^{-2} x, \quad \text{provided } hx^{-1/6-\epsilon} \rightarrow \infty,$$

while from Theorem 2 and (33) of Bombieri-Davenport [1] we get

$$\pi_2(x, h) \leq (8 + o(1)) xh \log^{-2} x, \quad \text{provided } h \rightarrow \infty.$$

In a following paper we shall give unconditional bounds for the least order of magnitude for $h(x)$ admissible in order to have (2).

Proof of the theorem. We define

$$\psi_{2k}(x, h) = \sum_{\substack{n_1, \dots, n_{2k} \\ n_{\min} \leq x \\ 0 < n_{\max} - n_{\min} \leq h}} \Lambda(n_1) \dots \Lambda(n_{2k})$$

where $\Lambda(n)$ is the von Mangoldt function and $n_{\min} = \min(n_1, \dots, n_{2k})$, $n_{\max} = \max(n_1, \dots, n_{2k})$.

By partial summation it is easily seen that (2) is equivalent to $\psi_{2k}(x, h) \sim 2kh^{2k-1}x$, thus we shall prove this formula.

We only consider the case $h \leq x^{1/2+\epsilon}$, since otherwise the theorem follows from a result of Cramér [2].

We have

$$\begin{aligned} \int_0^x (\psi(t+h) - \psi(t))^{2k} dt &= \int_0^x \left(\sum_{t < n \leq t+h} \Lambda(n) \right)^{2k} dt \\ &= \sum_{\substack{n_j \leq x+h \\ j=1, \dots, 2k}} \Lambda(n_1) \dots \Lambda(n_{2k}) d(n_1, \dots, n_{2k}) \end{aligned}$$

where

$$d(n_1, \dots, n_{2k}) = \text{meas} \{t \in [0, x]: t < n_1, \dots, n_{2k} \leq t+h\}.$$



Hence,

$$(5) \quad \int_0^x (\psi(t+h) - \psi(t))^{2k} dt = \sum_{\substack{n_1, \dots, n_{2k} \\ n_{\min} \leq x \\ 0 \leq n_{\max} - n_{\min} \leq h}} A(n_1) \dots A(n_{2k})(h - n_{\max} + n_{\min}) + \sum_{\substack{n_1, \dots, n_{2k} \\ x < n_{\min} \leq x+h \\ 0 \leq n_{\max} - n_{\min} \leq h}} A(n_1) \dots A(n_{2k})(x+h - n_{\max}).$$

From (5) we obtain

$$(6) \quad \int_0^x (\psi(t+h) - \psi(t))^{2k} dt = \int_0^h \psi_{2k}(x, u) du + O(h^{2k+1} \log^{2k} x).$$

We let as usual $\psi(x) = x + R(x)$, whence

$$(7) \quad \int_0^x (\psi(t+h) - \psi(t))^{2k} dt = xh^{2k} + \int_0^x (R(t+h) - R(t))^{2k} dt + O\left(h \int_0^x |R(t+h) - R(t)|^{2k-1} dt + h^{2k-1} \int_0^x |R(t+h) - R(t)| dt\right).$$

Suppose now that h is such that

$$(8) \quad I_{2k}(x, h) = \int_0^x (R(t+h) - R(t))^{2k} dt = o(xh^{2k});$$

then from (6) and (7), using Hölder's inequality, we get

$$(9) \quad \int_0^h \psi_{2k}(x, u) du = xh^{2k}(1 + o(1)).$$

Now the theorem follows from (9), using a well-known tauberian argument.

In order to estimate $I_{2k}(x, h)$ we consider

$$J_{2k}(x, \theta) = \int_x^{2x} |\psi(t+\theta t) - \psi(t) - \theta t|^{2k} dt$$

and use the well-known explicit formula

$$\psi(x) = x - \sum_{|v| \leq T} x^v / v + O(T^{-1} x \log^2 x), \quad T \leq x.$$

We follow the method of Saffari-Vaughan [9] in writing

$$J_{2k}(x, \theta) \leq \int_1^2 \left(\int_{xv/2}^{2xv} |\psi(t+\theta t) - \psi(t) - \theta t|^{2k} dt \right) dv.$$

Hence

$$(10) \quad J_{2k}(x, \theta) \leq \sum_{\substack{\rho_1, \dots, \rho_{2k} \\ |\gamma_j| \leq 1/\theta \\ j=1, \dots, 2k}} \frac{(|C_{\rho_1}(\theta)|^{2k} + \dots + |C_{\rho_{2k}}(\theta)|^{2k}) x^{k+1}}{(1 + |\gamma_1 + \dots + \gamma_k - \dots - \gamma_{2k}|)^2} + \log \theta T \sum_{m=\left[\frac{\log(1/\theta)}{\log 2}\right]+1}^{\left[\frac{\log T}{\log 2}\right]+1} \sum_{\substack{\rho_1, \dots, \rho_{2k} \\ 2^m < |\gamma_j| \leq 2^{m+1} \\ j=1, \dots, 2k}} \frac{(|C_{\rho_1}(\theta)|^{2k} + \dots + |C_{\rho_{2k}}(\theta)|^{2k}) x^{k+1}}{(1 + |\gamma_1 + \dots + \gamma_k - \gamma_{k+1} - \dots - \gamma_{2k}|)^2} + x^{2k+1} T^{-2k} \log^{4k} x,$$

where $C_\rho(\theta) = ((1+\theta)^\rho - 1)/\rho$.

Let

$$N_{2k}(y) = \#\{(\rho_1, \dots, \rho_{2k}) : \zeta(\rho_j) = 0, |\gamma_1 + \dots + \gamma_k - \gamma_{k+1} - \dots - \gamma_{2k}| \leq 1, |\gamma_j| \leq y, j = 1, \dots, 2k\}.$$

Then clearly

$$N_{2k}(y) \leq y^{2k-1} \log^{2k} y$$

and

$$(11) \quad J_{2k}(x, \theta) \leq x^{k+1} \theta \log^{2k}(1/\theta) + x^{k+1} \log \theta T \sum_{m=\left[\frac{\log(1/\theta)}{\log 2}\right]}^{\left[\frac{\log T}{\log 2}\right]+1} 2^{-m} \log^{2k} 2^m + x^{2k+1} T^{-2k} \log^{4k} x \leq x^{k+1} \theta \log^{2k}(1/\theta) \log \theta T + x^{2k+1} T^{-2k} \log^{4k} x.$$

The estimate for $I_{2k}(x, h)$ is obtained from (11) as in Saffari-Vaughan [9]; we have

$$(12) \quad I_{2k}(x, h) \leq (x/h) \int_{h/3x}^{3h/x} \left(\int_x^{3x} |\psi(t+\theta t) - \psi(t) - \theta t|^{2k} dt \right) d\theta \leq (x/h) \{x^{k+1} (h/x)^2 \log^{2k}(x/h) \log(hT/x)\} + x^{2k+1} T^{-2k} \log^{4k} x \leq hx^k \log^{2k} x \log(hT/x) + x^{2k+1} T^{-2k} \log^{4k} x.$$

Let now T be such that

$$Th/x \log^2 x \rightarrow \infty.$$

Then from (12) we get

$$I_{2k}(x, h) \leq hx^k \log^{2k} x \log \log x,$$

hence

$$I_{2k}(x, h) = o(h^{2k} x)$$

provided $h/f_{2k}(x) \rightarrow \infty, k > 1$.

Finally we remark that there is no difference between the case $k = 1$ and the general one but for the fact that there is no need to subdivide the zeros with $|\gamma| > 1/\theta$ in (10).

References

- [1] E. Bombieri and H. Davenport, *Small differences between prime numbers*, Proc. Roy. Soc. Ser. A 293 (1966), pp. 1-18.
 [2] H. Cramér, *Some theorems concerning prime numbers*, Ark. Mat. Astronom. Fys. 15 (5) (1920).
 [3] P. X. Gallagher, *On the distribution of primes in short intervals*, Mathematika 23 (1976), pp. 4-9.
 [4] D. R. Heath-Brown and H. Iwaniec, *On the difference between consecutive primes*, Invent. Math. 55 (1979), pp. 49-69.
 [5] M. N. Huxley, *On the difference between consecutive primes*, ibid. 15 (1972), pp. 164-170.
 [6] A. E. Ingham, *On the difference between consecutive primes*, Quart. Journ. Math. 8 (1937), pp. 255-266.
 [7] H. Iwaniec and M. Jutila, *Primes in short intervals*, Ark. Mat. 17 (1979), pp. 167-176.
 [8] A. F. Lavrik, *On the theory of distribution of primes, based on I. M. Vinogradov's method of trigonometrical sums* (Russian), Trudy Mat. Inst. Steklov 64 (1961), pp. 90-125.
 [9] B. Saifari and R. C. Vaughan, *On the fractional parts of x/n and related sequences*, Ann. Inst. Fourier 27 (1977), pp. 2-30.
 [10] A. Selberg, *On the normal density of primes in small intervals, and the difference between consecutive primes*, Arch. Mat. Naturvid. 47 (1943), pp. 87-105.

SCUOLA NORMALE SUPERIORE
 56100 Pisa, Italy
 ISTITUTO DI INGEGNERIA
 FACOLTÀ DI SCIENZE M. F. N.
 84081 Baronissi (SA), Italy

Received on 24.2.1981

(1242)

On a conjecture of D. H. Lehmer

by

D. O. CANTOR and E. G. STRAUS* (Los Angeles, Calif.)

1. Introduction. K. Mahler assigned the measure

$$M(\theta) = \prod_{i=1}^d \max\{1, |\theta_i|\}$$

to the algebraic integer θ of degree d with conjugates $\theta_1, \dots, \theta_d$. D. H. Lehmer conjectured that there is a constant $c > 1$ so that $M(\theta) < c$ implies that θ is a root of unity. While Lehmer's conjecture remains unproved, there has been significant progress in giving lower bounds depending on the degree d for $M(\theta)$. Recently E. Dobrowolski [1] has shown that there exists a positive constant $c > 0$ such that $M(\theta) < 1 + c(\log \log d / \log d)^2$ implies that θ is a root of unity.

In this note we follow Dobrowolski's ideas and obtain a somewhat simpler proof of his result coupled with an improvement on the constant.

THEOREM. *If $c < 2$ then for all sufficiently large d the inequality*

$$M(\theta) < 1 + c(\log \log d / \log d)^2$$

implies that the algebraic integer θ of degree d is a root of unity.

Our main tool is an estimation of a Vandermonde determinant which is constructed so as to have a large integral divisor. If $M(\theta)$ is too small, this Vandermonde vanishes, proving that θ is a root of an algebraic integer of lower degree.

2. Proof of theorem. Suppose n is a positive integer and a is a complex number. Define the (column) vectors

$$v_0(a) = (1, a, a^2, \dots, a^{n-1})'$$

* This material is based upon work supported by the National Science Foundation under Grants MCS79-0311 and MCS79-03162.